





() Fixed Cost 2,000 3,000 4,000 |
EB.LT. or O.P. , 3,000 2,000 1,000
Ol G 5,000 5,000 5,000
EBLT 3,000 2,000 1,000
=167 = 2-5 =

Calculation of FI. under Financial Plan I

Situation A

Situation B Situation ¢

! Rs. Rs. Rs.

EB.LT. (As Above) 3,000 2,000 1,000

() Interest on Debt 600 600 600
(10% of 6,000) — |
EBT. 2,400 1,400 400

fL e 20 2000 1000

EBT 2,400 1,400, 400
=125 =1-43 =258

Calculation of FL under Financial Pian I

Situation A

Situation B° ~  Situation ¢

Rs. Rs. - Rs. 48
E.B.LT. (As Above) 3,000 2,000 - 1,000
(-) Interest on Debt 300 300 300
(10% of 3,000) , e s
; EB.T. 2,700 1,700, 15 700 -
s s A 3,000 2000 1,000 -
T EBT 2,700 1,700 700
=111 =118y o o =
Calculation of FL under Financial Plan 1] e e
f ~ Situation A Situation B - Situation
: - Rs. 'Rs. ~ Rs.
E.B.LT. (As Above) 3,000 - 2,000 :
() Interest on Debt 900 420007
(10%0t9,000) L
EBT. 2,100 1,100+ el
g NEBIY. 3,000 12,000 |
T EBT 2,100 1400 KGR
s ‘ = 1-43. =482 '
Question 22. ' e LN S

Sajes 800 units @ Rs. 15
(—) Variable Cost 800 units @ Rs. 10
antt'butlon (C) )
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(-) Fixed Cost (F)

. | 1,00 200! 3000
Operating Profit (OP():or EBIT 3,000 2,000 1 000
Operating Leverage = oP 1.33 2.00 400
Statement Showing Computation of Financial Leverage
Financial Plan
P
articulars | i i
Rs. Rs. Rs.
Situation A :
Opefaﬁng PrOflt (OP) 3[@ 3'm 3’(m
Interest on Debt @ 12% 600 m m
EBT 2,400 2,700 2,100
Financial Leverage = EBT = 1-25 RTY =1-43
Situation B : ‘
Operating Profit (OP) 2,000 2,000 2,000
Interest on Debt @ 12% 600 300 . 900
EBT 1,400 1,700 1,100
; i % bl -
Financial Leverage = EBT = 1:43 = 1-318 = 1-82
Situation C :
Operating Profit (OP) 1,000 1,000 1,000
interest on Debt @ 12% 600 300 900
EBT s 400 700 100
Financial Leverage = OF =2-5 =143 | = 10-00
EBT :
Combination of Operating Leverage and Flnang'ial Leverage
Highest Value : _
(Situation C = 4-00) X.(Financial Plan Il = 10-00) = 40-00
Least Value : '
(Situation A = 1-33) X (Financial Plan [1 = 1-11) = 1-48 .
Question 23. : 2
X Ltd. Y Ltd,
. Rs. Rs.
Sales 28,00,000 28,00,000
(-) Variable Cost % % 100 = 70% of Sales 19,60,000 |  19,60,000
Contribution 8.40000 | - 840,000
() Fixed Costs 6.80,000 :::'g
EBIT (Operating Profit) | "“'m‘: e
{-) Interest Nl e
: EBT t,w,m i .mlm
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